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Run 5300 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—

Entrie=: 18562
Mean: 14,1851 «/- DUODET
Sid Dhevy: 127165 &~ D.0DE2

=== Lager OFF ---
Entries: 20515
Mean: 25066 +- 0.0
Sid Dhey: 03025 -~ 00015

Run 5300 quartetwize, Diffs)

=== Laser O -—

Eniries: 19562
Mean: -0.T615 </ QLOOAE
Sid Dhey: 0.5252 - 00027

=== Laser OFF ---
Entries: 20515
Mean: 00022 +- 0.0025
Sid Dhey: 03617 -~ 00078

Run 5300 quartetwise, Asyms(

=== Laser ON -—

Entries: 19562
Mean: -31.5689% 4+/- 0.1567
Sid Dev: 21,7764 &~ 01101

=== Laser OFF ---
Entries: 20515
Mean: 00895 +- 0.1047
Sid Dhev: 149960 4/~ L0740
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Run 5300 quartetwize, NegHalAcc)/NSamplas0

=== Laser O -—-

Enlrie=: 18562
Mean: 14,9466 /- 0000592
Sid Dhev: 1. 2803 & 0.0DE5

=== Lager OFF ---
Entrie=: 20515
Mean: 25044 +/- Q.00
Sid Deyv: 03019 &~ 00015

Run 5300 quartetwize, Sums0

=== Laser O -—-

Enlries: 18562
Mean: 29,1317 &/- 00176
Sid Dev: 24502 - 00124

== Laser OFF ---
Entries: 20515
Mean: 50110 +- 0.0034
Sid Deyv: 04845 - 0.0024




1300

1000

b A

&0

400

200

1200

1000

800

&0

400

20

12300

1000

&

&0

400

200

Run 5900 quartetwise, PosHelAccd

— Lasar O —

Enlna: TR

Magn: P EAD +- IETILET
=5 Dwre: JEERETY ATNT &1 BT ESTE

— Lassar OFF —
Erlna: J051E
Masn: 3458973715 J000 =0 218 95840
d Dre: 4158277381 +- E1N.113E

I T RE A

Run 5300 quartatwise, Diffs4d
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Run 5300 quartetwise, Asyms4

=== Laser ON -—
Entries: 19562
Mean: -32 0870 +/- 0.1267
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=== Laser OFF ---
Entries: 20515
Mean: -0.015%0 «/- 00494
Sid Dey: T.0E25 - 00350
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Run 5300 quartetwise, Asyms LISbg1

agan — N === Laser O -—
[ I Entries: 18562
apap E— Mean: -0.0001 «- 000D
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— === Laser O -—
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= Std Dev: 00881 +- 0.0005
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Run 5800 guartetwize, negHO vs time
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